
84.0 2133.3 96.0 2438.4

110.3 2800.4 111.8 2840.8

104.0 2641.6

REVISIONS

REV. ECN DESCRIPTION BY DATE

A 8000030684 INITIAL RELEASE MRC 07/09/18

B 8000032546 ADDED SHEETS AND VIEWS FOR ASSY CLARITY RJC 11/19/18

C 8000032819 ADDED CONSTRUCTION NOTES RJC 12/05/18

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 GB-03105 3/8" X 1" GALV BOLT KIT 28 0.05 LBS
2 GB-03505 3/8" X 5" GALV BOLT KIT 8 0.17 LBS
3 GWF-03 3/8" GALV FLAT WASHER 8 0.01 LBS
4 MTC3813C14 CANOPY BRACE, 11 GA, 30" 4 4.18 LBS
5 MTC4037C10 POST, 4 X 4 X 110.25 4 56 LBS
6 MTC4037C11 CHANNEL FORMED CANOPY END, 8' PLAT 4 33.52 LBS
7 MTC4037C12 CHANNEL FORMED CANOPY, 8' PLATFORM 4 22.78 LBS
8 RDR2636100 ROOF DECKING PBR 24 GA 36" X 144" 3 29.54 LBS
9 TS1275 TEK SCREW #12 X 3/4, WITH NEOPRENE WASHER 66 0.02 LBS

1234

1234

A

B

C

D D

C

A

B

NOTES:

1.0 GENERAL NOTES
      1.1  ALL METRIC DIMENSIONS ARE IN BRACKETS.
2.0 DESIGN NOTES
3.0 MANUFACTURING/SPECIAL REQUIREMENTS
4.0 TEST
5.0 PACKAGING

lbs/in³
lbs

in³
in²

±

558.61
BCAMPBELLCON

1 OF 6WIDTH
LENGTH
HEIGHT

MRC

1979.55VOLUME 12/11/2018RE

MC1107 12/11/2018AD
RV

BCAMPBELLCONRW 12/11/2018
06/26/18

COMMSCOPE, INC. OF NORTH CAROLINA

8X8 EQUIPMENT PLATFORM RAIN 
SHADE CANOPY 

MTC4037CR

CRE00ARE00

24
008000032546

DENSITY
MASS

0.28

UN
LE

SS
 O

TH
ER

W
IS

E 
SP

EC
IF

IE
D

DI
ME

NS
IO

NS
 A

RE
 IN

 IN
CH

ES
IN

TE
RP

RE
T 

PE
R 

AN
SI

 Y
 14

.5M
-1

99
4

CE

WORK AREA
ECN

DRAWING SHEETMODEL

SCALE

SIZE

ANGLES
X ±
.X ±

.XX ±

MATERIAL

.25
0.12

0.06
2°

A1011/A1018, A500

C

2 PLACE
1 PLACE
0 PLACE

REVISION

TOLERANCES

STATUSVERSION REVISIONSTATUSVERSION

DOCUMENT NO.

1:24

GALV A123
FINISH

SURFACE AREA

TITLENAME DATE

SAP MATERIAL MASTER

MTC4037CR

C 2018 CommScope, Inc. Confidential



1.0  ALL METRIC DIMENSIONS ARE IN BRACKETS.

88.0 2234.9

104.0 2641.3

35.9 911.1

35.8 909.1

7

6

7

6

6

6

7

A

1

5

5

4

4

4 1 2 3

1 2 3

123

5

B

B

1234

1234

A

C

D D

C

A

B

NOTES:

2 OF 6

COMMSCOPE, INC. OF NORTH CAROLINA

8X8 EQUIPMENT PLATFORM RAIN 
SHADE CANOPY

MTC4037CR

CRE02

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUSVERSION

DOCUMENT NO.

1:18

TITLE

C 2018 CommScope, Inc. Confidential

B



G

SECTION B-B

2

1 1 1 1

1
1

2

7 7

7

7

3

3

4

4

2
2 3

3

5
5

6NOTE HOLE POSITION
FOR TAPER

DO NOT USE
THESE HOLES

NOTE HOLE POSITION
FOR TAPER

DO NOT USE
THESE HOLES

1INSTALL TOP
BOLT FIRST

DETAIL G
SCALE 1 : 2

1

1

5

INSTALL TOP
BOLT FIRST

BOLTS TO MOUNT
CANOPY TO BASE
TYPICAL FOR ALL
CORNERS

THIS DESIGN SHOWS THE CANOPY TAPERS DOWN TOWARD
THE BACK AWAY FROM THE STEPS.

BACK LEG FRONT LEG

1234

1234

A

C

D D

C

A

B

NOTES:

3 OF 6

COMMSCOPE, INC. OF NORTH CAROLINA

8X8 EQUIPMENT PLATFORM RAIN 
SHADE CANOPY

MTC4037CR

CRE02

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUSVERSION

DOCUMENT NO.

1:6

TITLE

C 2018 CommScope, Inc. Confidential

B



DETAIL A
SCALE 1 : 2

1

6
5

4

5

7

2

13

3

2

BRACE GOES ON
OUTSIDE OF ITEM #6

THROUGH BOLT FOR
ATTACHING CHANNELS TO POST

1234

1234

A

C

D D

C

A

B

NOTES:

4 OF 6

COMMSCOPE, INC. OF NORTH CAROLINA

8X8 EQUIPMENT PLATFORM RAIN 
SHADE CANOPY

MTC4037CR

CRE02

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUSVERSION

DOCUMENT NO.

1:8

TITLE

C 2018 CommScope, Inc. Confidential

B



1.0  ALL METRIC DIMENSIONS ARE IN BRACKETS.

12.0 304.8  TYP
ALONG ENDS

6.0 152.4  TYP
ALONG HORIZONTAL

STRINGERS

36.0 915.2

21.6 547.8

93.5 2375.1

4.3 109.7

11.6 294.9

F

9

8

4.3 109.7

DETAIL F
SCALE 1 : 3

9

8

1234

1234

A

C

D D

C

A

B

NOTES:

5 OF 6

COMMSCOPE, INC. OF NORTH CAROLINA

8X8 EQUIPMENT PLATFORM RAIN 
SHADE CANOPY

MTC4037CR

CRE02

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUSVERSION

DOCUMENT NO.

1:8

TITLE

C 2018 CommScope, Inc. Confidential

B



D

EE

8.0 203.5
TYPICAL

ALL CANOPY POST

DETAIL D
SCALE 1 : 2

BOLTS ONLY GO THRU
INSIDE WALL OF 4" TUBE
WITH BOLT HEAD INSIDE
OF THE 4" TUBE

SECTION E-E
SCALE 1 : 3

THIS HEX BOLT
IS IN TOP OF CANOPY

HEX BOLT MOUNTS
CANOPY POST TO BASE
ALL FOUR POST

1234

1234

A

C

D D

C

A

B

NOTES:

6 OF 6

COMMSCOPE, INC. OF NORTH CAROLINA

8X8 EQUIPMENT PLATFORM RAIN 
SHADE CANOPY

MTC4037CR

CRE02

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUSVERSION

DOCUMENT NO.

1:10

TITLE

C 2018 CommScope, Inc. Confidential

B


	MTC4037CR AD
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4

	Sheet2
	Drawing View5
	Drawing View6
	Drawing View9

	Sheet3
	Section View B-B
	Detail View G (1 : 2)

	Sheet4
	Detail View A (1 : 2)

	Sheet5
	Drawing View8
	Detail View F (1 : 3)

	Sheet6
	Drawing View15
	Detail View D (1 : 2)
	Section View E-E


